BxX3—10

HRARBHRERELEEFHR

(1.77)

TR23F108E HERREEERL
REBRE
— BB LSRR
=R E AR L EREHAR
1L 1 5 30 150 500 ;O 1L 1 5 30 g
ATt ~ ~ ~ ~ sk U HE 2O PR ~ ~ ~ U HE LA
5 30 150 500 5 30 150

S 9 1,704 59 214 0 0 1,986 42,471 0 0 0 0 0 50
EE S 0 1,677 2, 809 803 0 0 5, 289 26, 305 0 0 0 1, 404 1, 404 9, 334
s 145 6, 554 3, 444 1,531 12 0 11,686 | 107,403 0 0 0 0 0 3
Kk 0 6 41 80 0 0 127 1,327 0 0 0 0 0 0
78 130 529 757 47 0 0 1,463 8, 744 0 0 300 8 308 3, 425
5 0 0 55 0 0 0 55 312 0 0 0 0 0 0
HAbKSE 0 0 0 4 0 0 4 2, 556 0 0 0 0 0 0
TR 0 65 162 7 0 0 234 3, 147 0 0 0 3 3 24
AR 0 2 3 0 0 0 5 163 0 0 0 0 0 0
TF L 0 0 1 0 0 0 1 9 0 0 0 0 0

{223 0 0 0 0 14 0 14 1,541 0 0 0 0 0

~U A 0 7 50 27 0 0 84 852 0 0 0 11 11 14
KIKH A 0 0 0 0 0 0 193 0 0 0 0 0 0
PG 0 0 351 0 359 4,521 0 0 0 370 370 1, 000
SG 0 0 0 0 0 2,161 0 0 0 0 0 0
Z O 800 606 282 1, 369 10 16 3,083 19, 563 0 0 200 200 400 1,824
i 1,084 11, 150 7,671 4,433 36 16 24,390 | 221,268 0 0 500 1,996 2, 496 15, 674
R E 9,860 | 109,014 62, 212 39, 709 231 242 | 221,268 | 221,268 0 269 4, 647 10, 758 15, 674 15, 674
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AARNBHREHEEEERHR (2.77)

FH23F10RE HERESEXL
BAHERBRE
BHEAE (500 LK)
1L 1 5 30 150 FOE
ES ] ~ ~ ~ ~ X HE B i
5 30 150 500

LPHA 0 204 7,870 122,616 0 130, 690 559, 462
LT =T 0 0 0 300 0 300 580
TEFLUHA 0 100 150 900 0 1, 150 4, 850
TNAa =R 12 0 0 0 0 0 0 0
TNAa =R 2 2 0 0 0 40 0 40 2,110
INFaH—R134a 0 0 0 0 0 0 0
INAaH—1R502 0 0 0 0 0 0 0
7 )VA 1 J—R v F Dfh 0 0 0 0 0 0 69
VR4S 0 0 0 0 0 0 0
~U T 0 0 0 0 0 0 7
T 0 0 0 0 0 0 38
iR A 0 0 0 0 0 0 0
FC1 0 0 0 0 0 0 56
FC2 0 0 0 0 0 0 0
FC3 0 0 520 0 0 520 16,716
Z D 0 39 46 100 0 185 2,130
M HE 0 343 8, 586 123, 956 0 132, 885 586, 018
ERE RG] 406 4, 159 64, 266 517, 187 0 586, 018 586, 018
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HARNBRBREHELEESTET (3.7)
FH23F10RE HERESEXL
2 & B FE
BERRR (500LBL)

500L 1000 2000 4000 6000 7000 8000 9000 11000 13000 15000 17000 18000 O

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ 2Lk % HF R F

1000L 2000 4000 6000 7000 8000 9000 11000 13000 15000 17000 18000
LPHA 0 11 0 2 2 0 0 0 0 0 0 0 16 31 216
LT =T 35 0 0 0 0 0 0 0 0 0 0 0 1 36 362
T A a—mR1 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T A a—mR 22 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3
T A a—mR3 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
TAAu—AR134a 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A —HRr502 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7V A a1 —AR 2D 58 0 0 0 0 0 0 0 0 0 0 0 0 58 155
[ES 0 0 0 0 0 0 0 0 0 0 0 0 0 0 106
M kR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T k& 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10
AF ) T—F )L 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FC1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FC2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FC3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Z D 0 0 0 0 0 0 0 0 0 0 0 0 0 0 57
M HEF 93 11 0 2 2 0 0 0 0 0 0 0 17 125 909
R RG] 601 162 1 52 9 4 3 0 2 0 1 0 74 909 909
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HAGNBGRRER=EEEESTEX (47)

ER23F10RE HKBRREBE
BERE
HBIEERES (500 LKA FBIEERS (500LLE)
1L 1 5 30 150 isyis 500 | 1000 | 2000 [ 3000 | 4000 | 5000 | 6000 | 7000 | 8000 | 9000
S ~ ~ ~ ~ | YA i ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
5 30 150 500 2000 | 3000 | 4000 | 5000 | 6000 | 7000 | 8000 | 9000 | 10000
WALl 325 0 0 0 90 415 | 1,507 0 0 0 0 0 0 0 0 1 0
RILER 0 0 0 0 90 90 | 1,046 0 0 0 0 0 0 0 1 0 0
TR IR 0 0 0 0 100 100 260 0 0 0 0 0 0 0 0 0 0
A A= 0 0 0 0 20 20 404 0 0 0 0 0 0 0 0 0 0
TRAL KR A 0 0 0 0 0 0 104 0 0 0 0 0 0 0 0 0 0
Z D, 0 0 0 0 0 0 100 0 0 0 0 0 0 0 0 0 0
M H G 325 0 0 0 300 625 | 3,421 0 0 0 0 0 0 0 1 1 0
EERE 555 0 0 480 | 2,386 | 3,421 |3,421 0 0 0 0 1 1 1 3 7 3
BHERE
FBIEERE (500LLE)

10000 | 11000 | 12000 | 13000 | 14000 | 15000 | 16000 | 17000 | 18000 | 19000 | 20000 | 21000 | 22000 |24, 000 isNis

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ | Lk | HAGH Rt

11000 | 12000 | 13000 | 14000 | 15000 | 16000 | 17000 | 18000 | 19000 | 20000 | 21000 | 22000 | 24000
WALl 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 5
RiLER 0 0 1 0 0 0 0 0 0 0 0 0 0 2 16
TR IR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A A= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2
TRAL KR A 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 27
Z D 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3
M H G 0 0 1 0 0 0 0 0 0 0 0 0 0 0 3 58
R 2 3 6 2 1 0 0 0 1 4 0 0 2 21 58 58
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AARNBHREHELEERHNKR (5.77)

FTH23F10RE HEREEEXL
BHEBRE
—REERE
-
A O O G i INYCETN B
D 30 150
&S 0 | 4,332 0 0 0 | 4,332 | 32,461
EH 0 0 0 0 0 0 785
EEE 0 405 1,383 0 0 1,788 7,847
KK A 0 0 0 0 0 0 0
K# 0 0 0 0 0 0 0
Z DAth 0 0 0 0 0 0 0
&El 0 4,737 1,383 0 0 6,120 | 41,093
AR R 0 | 34,324 6, 769 0 0 | 41,093 | 41,093
BHEBRE
ERRXAAAEBERBEERARSE BT LEE)
5L 30 150 160 170 180 190 200 210 220 B 4 pE
-~ ~ ~ ~ ~ ~ ~ o~ ~ sk U A Gk
30L 150 160 170 180 190 200 210 220
KEKH A 36 169 109 0 0 0 0 0 0 0 314 1,058
RS2 94 754 210 0 0 0 0 0 0 0 1,058 1,058
BHEBRE
ERRXAARAEHERPBEERARSE (EEHEE)
5L 30 150 160 170 180 190 200 210 220 . 4 pE
-~ - -~ ~ ~ ~ -~ -~ -~ sk S A E Bt
30L 150 160 170 180 190 200 210 220
KEKH A 0 0 36 0 0 0 0 0 0 0 36 115
ERERE 0 0 36 69 0 10 0 0 0 0 115 115
BHEBRE
EfEKREBNERNEERSSE
5L 30 150 160 170 180 190 200 210 220 . 4 pE
-~ - -~ ~ ~ ~ N - -~ sk S E BREt
30L 150 160 170 180 190 200 210 220
IKEH A 0 17 0 0 0 0 0 0 0 0 17 122
R R 4 118 0 0 0 0 0 0 0 0 122 122
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A '_I_\| sle E E
HARNBREREH=Z2EESTE (6.77)
T23F10RE
BRHERE
EfEKRELBHERARS

5L, 30 150 160 170 180 190 200 210 220 o ERE

~ ~ ~ ~ ~ ~ ~ ~ ~ oLk % HE [

30L 150 160 170 180 190 200 210 220
K& A 0 0 0 0 0 0 0 0 0
EE R 0 0 0 0 0 0 0 0 0

BRHERE
BIEXARTREHERBEERASSS

5L 30 150 160 170 200 250 500 — ERE

~ ~ ~ ~ ~ ~ ~ o | HHER | m=

30L 150 160 170 200 250 500
RIRH A 0 0 0 0 0 0 0
R 0 0 0 0 0 0 0

BRHERE
55t ITR%%
1L 1L 5L 30L 1501 500L 1000L ERE
~ ~ ~ ~ ~ A BE

R 5L 30L 1501 500L 10001, oLk
LPG 0 0 0 0 0 0 0
Z DAt 0 0 0 0 0 0 0
EE R 0 0 0 0 0 0 0

HERREERE
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» oI *h = &
HARNBHREREH=EzEESHE (7.77)
FTRE23FE108E HBRBREEEXRL
BRHERE
BRTCAZILLRS
1L 1L 5L, 30L 1501 500L 1000L, EOpE
~ ~ ~ ~ ~ w2 B
R 5L, 30L 1501 500L 10001, oLk
JNAFaH—R 12 0 0 0 0 0 0 0 0 0
INNFEH—RL 2 2 0 0 0 0 0 0 0 0 0
A aH—R 32 0 0 0 0 0 0 0 0 0
I FaH—R134a 0 0 0 0 0 0 0 0 0
I FEH—RL 502 0 0 0 0 0 0 0 0 0
)V Fda =R D 0 0 0 0 0 0 0 0 0
FC1 0 0 0 0 0 0 0 0 | 27,957
FC2 0 0 0 0 0 0 0 0 0
FC3 0 0 0 0 0 0 0 0 0
Z O fh 0 0 0 0 0 0 0 0 400
2 HEE 0 0 0 0 0 0 0 0 | 28,357
TR 400 0 | 27,957 0 0 0 0 | 28,357 | 28,357
REBRE REBRE
—REEEH BIEERS
1L 1 5 30 150 EOpE 500 L 3| 500L~ [1000LLL k- v g3 EOpE
. . i .
e ~ ~ ~ ~ wHE | B3 1000L F
5 30 150 2Lk e 0 0 0 0 0
72 0 0 0 0 0 0 0 WLEFE 0 0 0 0 0
IS 0 0 0 0 0 0 0 WAL T = 0 0 0 0 0
RIRH A 0 0 0 0 0 0 0 WA 7T A 0 0 0 0 0
6 0 0 0 0 0 0 0 WRALRIR AT A 0 0 0 0 0
H i A 0 0 0 0 0 0 0 bk 0 0 0 0 0
Z D, 0 0 0 0 0 0 0 Z D, 0 0 0 0 0
&t 0 0 0 0 0 0 0 &t 0 0 0 0 0
AR 0 0 0 0 0 0 0 R 0 0 0 0 0
TEEE 0 0 0 0 0 0 0 TEEE 0 0 0 0 0
RAAEE Rt 0 0 0 0 0 0 0 TEEEERE 0 0 0 0 0




